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| 100kN/ M%E#B 2% -l -~ = -|3mzERL| - ~ = - —| 100kN/MZE# X % = -~ = -|3mZEEZD -~ = = =
zns 1.00{0.00 ~ 5.77 7218 £h4t |0.00 ~ 577 1.77 9.29 zTh s 1.00] 5.00 ~ 647 7218 #h st | 500 ~ 647 1.77 9.29
9 100kN/ M%EBZ 5 1.00/0.00 ~ 0.95 114.18| 3m%EBZ% -~ = - —| 100kN/m%# % % 1.00( 10.57 ~ 13.50 114.18| 3mEBZ5 -~ = = =
zns 1.00{095 ~ 8.73 100.00f #hdst |0.00 ~ 8.73| 2.14 11.24 zTh s 1.00] 5.00 ~ 1057 100.00f #h st | 500 ~ 1350 2.14 11.24
3 100kN/ M%EBZ 5 1.00/0.00 ~ 1.50 122.89| 3m%EB A% -~ = - —| 100kN/m%# % % 1.00( 10.58 ~ 15.50 122.89| 3mEBZ5 -~ = = =
zns 1.00{1.50 ~ 929 100.00f #h A4t |0.00 ~ 9.29] 243 12.76 zTh s 1.00] 5.00 ~ 10.58 100.00| #h st | 500 ~ 1550 243 12.76
4 100kN/ M%EBZ 5 1.00/0.00 ~ 1.38 120.88| 3mE#B A% -~ = - —| 100kN/m%# % % 1.00( 10.54 ~ 15.10 120.88| 3mEE 25 -~ = = =
zHns 1.00{1.38 ~ 9.16 100.00f #h A4t |0.00 ~ 9.16] 235 12.32 zTh s 1.00] 5.00 ~ 1054 100.00| #h kst | 500 ~ 1510 2.35 12.32
5 100kN/m%B %% 1.00{ 0.00 ~ 0.46 106.81| 3mEE X5 ol ~ = = —| 100kN/ Mm%z % 1.00] 10.66 ~ 12.00 106.81| 3mZEHE X5 =~ = = =
zns 1.00{ 046 ~ 8.25 100.00f Zh st | 0.00 ~ 8.25| 2.11 11.08 zTh s 1.00] 5.00 ~ 10.66 100.00| #h st | 500 ~ 1200 2.11 11.08
; 100kN/M%E#B 2% -l -~ = -|3mzERB| - ~ = - —| 100kN/MZ# X % = -~ = -|3mZEEZD -~ = = =
zHns 1.00{0.00 ~ 6.63 83.72| #h s | 000 ~ 6.63] 1.75 9.16 zTh s 1.00] 5.00 ~ 797 83.72| Th s | 500 ~ 797| 1.75 9.16
; 100kN/ M%EBZ % 1.00/0.00 ~ 0.15 102.26| 3mE#BZ % -~ = - —| 100kN/mM%# % % 1.00( 10.77 ~ 11.21 102.26| 3mzEB 25 -~ = = =
zHns 1.00{0.15 ~ 7.94 100.00f Zh A4t |0.00 ~ 7.94| 2.09 10.94 zTh s 1.00] 5.00 ~ 10.77 100.00| #h kst | 500 ~ 11.21| 2.09 10.94
8 100kN/ M%EBZ % 1.00/0.00 ~ 0.40 105.97| 3mEBZ % -~ = - —| 100kN/m%# % % 1.00( 10.78 ~ 11.99 105.97| 3mEB 25 -~ = = =
zns 1.00{040 ~ 8.19 100.00f #h 4+ |0.00 ~ 8.19] 2.08 10.93 zTh s 1.00] 5.00 ~ 10.78 100.00| #h kst | 500 ~ 11.99| 208 10.93
9 100kN/ M%EBZ % 1.00/0.00 ~ 0.18 102.62| 3mE#BZ % -~ = - —| 100kN/mM%# % % 1.00( 10.85 ~ 11.37 102.62| 3mEEB 25 -~ = = =
zHns 1.00{0.18 ~ 7.96 100.00f Zh A4t |0.00 ~ 7.96| 207 10.86 zTh s 1.00] 5.00 ~ 10.85 100.00| #h kst | 500 ~ 11.37| 207 10.86
10 100kN/ M%EBZ % 1.00/0.00 ~ 0.30 104.39| 3m%E#B A% -~ = - —| 100kN/mM%#2 % % 1.00( 10.58 ~ 11.37 104.39| 3mEB 25 -~ = = =
zHns 1.00{0.30 ~ 8.08 100.00f #h A4t | 0.00 ~ 8.08] 2.24 11.73 zTh s 1.00] 5.00 ~ 10.58 100.00f #h st | 500 ~ 11.37| 2.24 11.73
. 100kN/M%E#B 2% -l -~ = -|3mzERB| - ~ = - —| 100kN/MZ# X % = -~ = -|3mZEEZD -~ = = =
zHns 1.00/0.00 ~ 6.95 88.04| #h st | 000 ~ 6.95| 1.79 9.40 zTh s 1.00] 5.00 ~ 862 88.04| Th bl | 500 ~ 8.62| 1.79 9.40
. 100kN/ M%E#B A% -l -~ = -|3mEERL| - ~ = - —| 100kN/MZ#BZ % = -~ = -|3mZEEZD -~ = = =
zHns 1.00{0.00 ~ 6.93 87.75| #h s | 000 ~ 6.93| 1.75 9.20 zTh s 1.00) 5.00 ~ 855 87.75| Th s | 500 ~ 855 1.75 9.20
0= 100kN/ M%E#B 2% -l -~ = -|3mzERB| - ~ = - —| 100kN/MZ# X % = -~ = -|3mZEEZD -~ = = =
zns 1.00/0.00 ~ 6.46 81.35| #h st | 000 ~ 6.46| 1.94 10.16 zTh s 1.00] 5.00 ~ 825 81.35| Th iy | 500 ~ 8.25| 1.94 10.16
” 100kN/M%E#B 2% -l -~ = -|3mzERB| - ~ = - —| 100kN/MZ#BZ % = -~ = -|3mZEEZD -~ = = =
zns 1.00{0.00 ~ 5.30 66.08] Zh st |0.00 ~ 530| 1.96 10.29 zTh s 1.00] 5.00 ~ 6.35 66.08| #h st | 500 ~ 635 1.96 10.29
. 100kN/M%E#B 2% -l -~ = -|3mzERB| - ~ = - —| 100kN/MZ# X % = -~ = -|3mZEEZD -~ = = =
Zh s 1.00/0.00 ~ 524 65.33| Zh st | 000 ~ 5.24| 1.88 9.84 Zh s 1.00] 5.00 ~ 589 65.33] Zhsh | 500 ~ 589 1.88 9.84
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